
o FL-AL-01

Aluminium 3/8" x 1/2"

(4 req.)

o FL-AL-03

Aluminium 3/8" x 1/2"

(4 req.)

o FL-AL-A

Aluminium 1/4"

(1 req.)

o FL-AL-AM

Aluminium 1/4" x 1"

(1 req.)

o FL-AL-B

Aluminium 1/4"

(6 req.)

o FL-AL-C

Aluminium 1/4" x 1/4"

(2 req.)

o FL-AL-D

Float Pick-up

(4 req.)

o FL-AL-E

Aluminium 1/16" x 3/8"

(4 req.)

o FL-AL-F

X-brace attach

(4 req.)

o FL-AL-G

Aluminium Ø1/4"

(4 req.)

o FL-AS-01

Aluminium 1/8" x 1/2"

(4 req.)

o FL-FS-01

Aluminium 1/8" x 1/2"

(4 req.)

o FL-MS-01

Aluminium 1/8" x 1/2"

(4 req.)

o FL-SB-A-01

Aluminium 1/8" x 1/2"

(8 req.)

1

1

2

2

A A

B B

26-05-2022

FLOAT LISTING

DHC-2 BEAVER (25%)

1

0

 

1

/

4

"

8

 

3

/

4

"

1

0

 

3

/

8

"

n
5

/

3

2

"

n
7

/

3

2

"

1

/

4

"



o DUB302

4-40 Steel Rod ends

(12 req.)

o DUB336

4-40 Threaded coupler

(6 req.)

o Tie bullet

Cast plastic

(4 req.)

o DUB300

Turnbuckles

(3 req.)

□ FL-FG

Fiberglass

(2 req.)

□ Pulley-A

Pulley

(7 req.)

□ Pulley-B

Pulley

(2 req.)

□ Water Rudder

(2 req.)

□ FL-LS-A

Strut Insert

(4 req.)

1

1

2

2

A A

B B

26-05-2022

FLOAT LISTING

DHC-2 BEAVER (25%)

o Balsa 1/2" x 1/2" x 36" (2x)

o Balsa 1/4" x 1/2" x 36" (2x)

o Balsa 1/4" x 1/4" x 36" (12x)

o Balsa 3/32" x 4" x 36" (12x)

o Hardwood 1/4" x 1/2" x 36" (1x)

o Hardwood 1/4" x 3/8" x 36" (2x)

o Balsa 1/2" x 3/4" x 48" (1x)

o Balsa 1/4" x 1/4" x 48" (10x)

o Balsa 3/4" x 1" x 48" (1x)

o Hardwood 1/2" x 3/4" x 48" (1x)

o Hardwood 1/4" x 1/2" x 48" (1x)

o Brass tube  Ø1/4" x 12" (5x)

o Brass tube  Ø7/32" x 12" (1x)

o Brass tube  Ø13/32" x 12" (1x)

o DUB145 4-40 Threaded Rod x 30" (6x)

o K&S  Flat Brass strip

o Nylock Nut 2-56 SS (4x)

o Nylock Nut 4-40 SS (14x)

o Nylock Nut 6-32 SS (28x)

o Nylon Washer #6 (4x)

o Servo Screw #2 x 7/16" (24x)

o SHCS 2-56 x 5/8" SS (4x)

o SHCS 4-40 x 1/4" SS (14x)

o SHCS 4-40 x 1/2" SS (5x)

o SHCS 6-32 x 3/4" SS (14x)

o SHCS 6-32 x 1" SS (9x)

o SHCS 6-32 x 1 1/4" SS (5x)

o SHCS 6-32 x 1/2" SS (2x)

o SHCS 6-32 x 3/4" SS (14x)

OPTIONAL


